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Note:  First 15 minutes are allotted for the candidates ¢y read the

question paper.
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Instructions :
i)  All questions are compulsory.

i)  All questions carry equal marks:
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1. Logic has been defined as 'the science of thought'. Is this definition

adequate ? 5+5
OR
Indjcate the form of the following categorical propositions : 3+3+4
i) All men are mortal.
1)  No Indians are Americans.
iii) Ram is a man.
2. SFRIEN € 3R T fahm ok s ¥ 2 4+6
Regan
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2. What is immediate inference and what are its different forms ? 4+ 6
OR
State the obverses of the following propositions * 3+3+ t‘

i) Some men have taste for literature,

i) No men is perfect.

itij Some despots are not cruel.

110077/718

Previous Pathshala




J. De 1 v L
‘; ! y n] d t Q t > Q l S, . ' .

OR

In a valid st
andard form of catcgorical syllogisin ‘the middie term .
must he

distributed in at lcast one premises’. Praye it. 10
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ii)
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4. Explain simple and complex dilemma with example. 10
OR
3+31+4

Answer the following questions clearly

i)  Give an example of fallacy of illicit minor term.
i) Explain how the said example illustrates the fallacy of illicit minor
term.

iii) Show whether the fallacy of illicit minor term is related with deduction
or induction.

110077/718 | Turn ovet

Previous Pathshala




330 4

5w ot s o e @ A & A ohed g aniikean F e A
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s adding the symbols A, E, Ior O in_

5. Present the following in logical form :

each case : 3+3+4

i) Any answer is nota good answer.

ii) Every disease is not fatal.

iijy Al good speakers are not good writers,

OR
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Explain the fallacies, if any, in the following argument
s:

1)

3+3+4

g =

TherefOre Sanskrit is difficult to Jearn.

i) All scienti ‘
) Al scientific languages are uhambiguous. The language of logic is

unambi
mbiguous. Therefore the language of logic is scientifig language

ii) All dogs are mammals. No cats are dogs. Therefore 1o cats are

mammals,
6. awth ST e o Tfi o SR s T 10
A Qv
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4+6
6. Explai.n and illustrate the process or method of scientific induction. 10

OR

Define hypothesis. Mention clearly the conditions of legitimate hypothesis.

4 +6
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7.  Explain with example the different meanings of the word 'law'. 10
OR
Point out the distinction between scientific and popular explanation. =
8. mﬁﬁmfaﬁ:ﬁ%m%mmwﬁ > = Ffw | 10
JYar
W*Wﬁﬁ:ﬁﬁwaﬁaﬁmﬁamgwﬁml 10
10

8. What are the basic principles of the experimental methods ? Explain.

OR

Stte and explain Mill's method of residues pointing out its merits and

(jemerits. https://www.upboardonline.com 10
9. aifteuT FTE 7 FNHROLF T T € 2 FHTEAT iy | 4+6
HYU4AT
FiieEd oY feoon fafay - S+5
i) oieRROT W |
ii)  ofeRoT 3R U |
9. What is classification ? Point out its utility. Explain. 4+6
OR |
Write notes on the following : 5 4 Si

) Fallacy of classification.

ii)  Classification and definition.
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10. Write notes on the following :
1) Fallacy of four terms.
11) Fallacy of exclusive premises:.

OR

Explain with example.conversion and obversion.
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